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Note :

(i) @9 7vT e & g gaw gvT ] FE R

-----------

[t 37 30
[Maximum Marks : 30

All Questions are compulsory and each question is of 1 mark.

(ii) &1 snan & e gid # feufr o aipst s 8w &

Only English version is valid in case of difference in both the languages.

4 % gaet X a9 ¥ fow 39 e
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(a) STIRFEIT

(b) R

(c) wnfegar

(d) =

IH H | TEIE B3I BT R ?
(a) 3% FEA TH

(b) g

c) &R

(d) UEE

T % S.I TET H TER &

1)

Which property is essential for a

metal to draw it into thin wires ?

()
(b)
(c)
(d)

Malleability
Hardness
Plasticity
Ductility

Which is the hardest from these ?

(a)
(b)
(c)
(d)

High Carbon Steel
Glass

Diamond

Granite

The unit of energy in S.I. system is

(a)
()
(c)
(d)

Watt

Joule
Joule/min
Joule/metre

P.T.O.




EE202

4 aE e w e wEoT Y
(@ PV=mRT
() PV"=C

(c) PV =%nRT

5. e @t e P wataa b
(a) TETWH T
(b) T weEr
(c) HET Hwor
(d) T T

6. U ST T T WHH S
(a) 100 ¥fRT
() 250 #iex
(c) 500
(d) 1000 =X

7. PeddsRdfRmdEt?
(a) fafere o
() Tafime amew
(c) fTafme o
(d) ¥ 9w

8. S W ¥aWal T
(a) vawd wig et |
(b) VETE T qEE WWH S |
(c) INB AT R AFAMY |
(@ BT

9. AT RIGIaOME

(@) 103 kN/m?
() 10.3 m9rd

(c) 760 mm IRT
(d) IR T

@

20

Characteristic equation of a perfect
gas is
(a) PV=mRT
(b) PV=C
1
(c) PV=3 nRT

@ GCp-Cy=R

The first law of thermodynamics is
related to

(a) Conservation of mass

(b) Conservation of energy

(¢) Conservation of momentum
(d) Conservation of heat

One cubic meter of water is equal to
(a} 100 litres
(b) 250 litres
(c) 500 litres
(d) 1000 litres

Which of the following is dimensi
less ?

(a) Specific heat
(b) Specific volume
(¢) Specific gravity
(d) None of these

Viscosity of a fluid

(a) make resistarce in flowing
(b) helps in flowing

(c) increases its conductivity
(d) None of these

The atmospheric pressure at sea lev
is

(@ 103 kN/m?

(b) 10.3 m of water

(¢) 760 mm of mercury

(d) All of these
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1), ST WHIHOT TW TR W i

e

(@) T T a9 W SN § @Ry E
Bt e |

(b) WaITE T 3T UTEY o SFIHMT % Teht
TR wTET |

(c) TEEIENT 9 % a1
¥ ToT el B T AT |

(d) ST T+

e FHIFOT & SFTER
(@) wa; =wy,

(b)) wv, =w,v,

©) ayv=ay,

(d) a/fvy=aylv,

T | ¥ 1 %8 W AT 36 WA
WITE___ &g |

(@ s

(b)y =9

(c}) WHA

(d) ¥ W ®HE T

I T W 59 T R B
(@ IWE

(b) =

) =9

(d) | B A
To2T el e &

(a) 3T VAT ST A
(b) B vaTE AT ERT
(c) TR yaw AT A
(d) i v whafear e

3

10.

11.

12.

13.

14.

2039

The Bernoulli’s equation is based on
the assumption that

(a) There is no loss of energy of the
liquid flowing.

(b) The velocity of flow is uniform
across any cross-section of the

pipe.
(¢) No force except gravity acts on
the fluid.

(d) All of the above.

According to equation of continuity
(@) wa =wpa,

) wv,=w,v,

(© ayv,=ayv,

(d) afvy=alv,

In a venturimeter, the velocity of
liquid at throat is than at inlet.

(a) higher

(b) lower

(c) equal

(d) None of these

In a centrifugal pump the liquid
enters the pump

(a) atthetop

(b) at the bottom
(c) at the centre
(d) None of these

Pelton wheel turbine is

(a) axial flow impulse turbine

(b) radial flow impulse turbine

(c) tangential flow impulse turbine
(d) tangential flow reaction turbine

P.T.O.
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15.

16.

17.

18.

19.

20.

s T W HH g e A @
T W1 T IYGEFT FT 2 ‘

(a) SITHE T

(b) ST YaTE T

(¢) T vamE v

(d) v T

WIFeS @R & wanT fear s & 5w
it =7 IueTey vid war &

(@ 250 T ¥ TR

() 25 @250 Ui aF

(c) 25 TH

(d) TF Y

& freivaii # daer 9 7e w9 9
= e ¥ e fpar s ¥

(@) ¥ W TOE FH B
(b) 99 T AT T &
(C) W9 T WM ¥
(d) IR |t

it d @ 9 SeR & ITa €7
(a) fragaf -
(b) S

() (a)u& (b) 3

@ T & e

WY ZXETEAT 1 qrietoT REaT S | &
(a) W9 % WaTE &t e SqER

(b) VT I T FAAR

(c) w9t R % SFER

(d) SwRET Tt

AT TG LA T WIT T TR0 Ger &
() PETYTATH
(b) PIEEATIE :
(c) ity e & wd i ST W
(d) T 9 i w

@)

15.

16.

17.

18.

19.

20.
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For small discharge at high presure,
following pump is suitable

(a) Centrifugal pump
(b) Axial flow pump
(¢) Mixed flow pump
(d) Reciprocating pump

Francis turbine is used when
available head of water is

(a) above 250 metre

(b) 25 metre to 250 metre
(¢) Upto 25 metre

(d) None of these

An economiser is installed in a boiler
primarily to

(a) reduce fuel consumption

(b) superheat the steam

(c) increase steam pressure

(d) all of these

Which of the following are boiler
accessories 7

(a) Economiser

(b) Superheater

(¢} Both(a)and (b)
(d) None of these

Steam turbines may be classified
according to

(a) direction of steam flow

(b} number of stages

(¢) mode of steam action

(d) All of these

In an impulse steam turbine, steam

expands

(a) wholly in blades

(b) wholly in nozzle

(c) partly in the nozzle & partly in
blades

(d) None of these

:
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21.

22.

23

24,

25.

= F O 9 W SR T (I0)
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@ &< e &

(b) = T Uget

(c) Feoa e

(d) =T

o € YT T F P T B
e % fr= o @ feem ofeeae & qot
A E 2

(a)
(b)
(c)
(d)

= N

Y2t E9F | Ag-du ST W R
AT

(a) TETTH

(b) TER

(c) ToRT

(d) FEE

Hier.aEfen °§ IHfaeTe & W
ghgent ferermm 2t &

(a) . TawivsT =t arfus Teed F 2
(b) FETR Ve g

() IT=st fewmEe &g

(d) I TR

Y s a1

(a) VIferT TRl 9 FAT T |

(b) FIferT GO SN & |

(c) Vi TR W HIT WA T
A CIE

(d) T HeROT & T T T TG
AT Y |

(3)

21.

22.

23.

24.

25.
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Which of the following is not an
internal combustion engine ?
(a) Two stroke petrol engine
(b) Four stroke petrol engine
(c) Diesel engine
(d) Steam engine

The working cycle in case of 4-stroke
petrol engine is completed in following -
number of revolution of crank shatft

1
@ 7
(b) 1
c) 2
d 4

The air-fuel ratio of petrol engine is
controlled by

(a) fuel pump
{b) governor
(¢) injector

(d) carburettor

Fins are provided over
cylinder in motor cycle for

(a) High strength of cylinder
(b) Better cooling

engine

(c) Good appearance
(d) High efficiency

The centrifugal tension in belts
(a) decrease power transmission.
(b) increases power transmission.

(c) does not affect

transmission.

power

(d) increases power transmission
upto a certain speed and then
decreases.

P.T.O.
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26.

27.

28.

29.

30.

wraeH § fuean Wi d@eRw ®
T & ot @ A e 3 o
B AT

(a) HAIFRIT T BTG

(b) AT T H IFE

(c) SATHNT T BT UR T

(d) HUFRNT T FT AT

Feddsmoalt?

(a) T 3@ = = T + aRgTeehg
T

(b) T T = e 3| + IgHEAE
g

(c) IgHEHAE TW = fde T + T
LiC

d) RUw T = W TE - IgEEEE
AL

FAEHmREE
(a) ©EUT HH FAT
(b) Taame $9 %@
(c) IR | TG
(d) IoE |t

i fag X AT At 7w S et §
(1 TIREA

(b) Y= Aw

(c) Y@ H IR

(d) wd @ =g

0°C ]20°C 9% 51 | TH FA W
Saw fafere ames

(a) WEASgamE R Temt
() A uewm et
(c) TR dgen ¥ |
(d) TTEREEAY |

(6
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29.

30.
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The belting can transmit maximum
power when maximum total tension
in belt equals

(a) twice the centrifugal tension.

(b) thrice the centrifugal tension.

(¢c) four times the centrifugal tension.
(d) half the centrifugal tension.

Which of the following is correct ?

(a) Absolute Pressure = Gauge
Pressure + Atmospheric
Pressure

(b) Gauge Pressure = Absolute
Pressure + Atmospheric
Pressure

(c) Atmospheric Pressure =

Absolute Pressure + Gauge
Pressure

(d) Absolute Pressure = Gauge
Pressure — Atmospheric Pressure.

The purpose of lubrication is
(a) toreduce friction

(b) to reduce wear and tear
(c) protect from corrosion
{(d) All of the above

The latent heat of vaporisation at
critical point is

(a) less than zero

(b) greater than zero

- (¢) equal to zero

(d) None of the above

The specific volume of water when it

heated from 0 °C to 20 °C.

(a) First increases and then
decreases.

(b) First decreases and then
increases.

(¢) Increase steadily.
{(d) Decrease steadily.
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foretifra waw AT ) [rferames st : 70

Time allowed : Three Hours) ‘ [Maximum Marks : 70

T . (i) I v fvard & viw 7 3 feEl ol @ e il
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) HrF FET % Qo 9T @ FHER OF A 6T BT /
Solve all parts of a question consecutively together.
(iii) HeG% 7¥7 H 79 g5 q TRET HMQ |
Start each question on a fresh page.
(iv) T el & sy g1 @1 Rafer & siaont s @t ar &

Only English version is valid in case of difference in both the languages.

1. e =i B e
Define the following terms :
i) sifa

Fatigue
(ii) feafos =it
Potential energy
(i) fafere o
Specific gravity
(iv) 3% 9
Wet Steam
(v) SR

Velocity ratio (2x5)

2. I3=9 48 SEeRl ¥ siremi i e va ase | # fax w weEa ¥ Ty |

Write the characteristics of high pressure boilers and explain Benson boiler with the
help of diagram. (12)

N P.T.O.
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3. () U A wew ¥ e ont = fafed | -ﬁ

. Write the various properties of a good lubricant.

(ii) HURT WRET GO UIeH & {7 e U 5 G e R | ]

Derive formula of Tension ratio for flat belt open drive. (6+6)

4. () fafire v = Ry Fife o FomieEt & o Pas w5 aaegd )

Define specific heat and explain first law of thermodynamics.
(i) T % Rl dim sdifo onedt w5 TR
Explain any three physical properties of fluid. (6+6)

5. (i) e o wifeor B F
Classify the pumps.
(i) wifew a5t fox 3t vemer ¥ e |
Explain Francis turbine with the help of diagram. (6+6)

6. 3R o F ¥ 2 ug e Wt $oF %t Tax Y wErEer @ wHeR |
What is otto cycle ? Explain four stroke petrol engine with the help of diagram. (12)

7. () (oTm W g ¥ SR O TRt (T-h) 1 B W § aeend | L
Explain steam generation at constaht pressure with the help of Temperature-
enthalpy (T-h) chart.

(i) o, o @ e A S W & B R sraew o sl et W g :
ffer | -3
Write the formulae of specific volume and internal energy for wet, dry &
saturated and superheated steam. (6+6)

8. it feoqoft fafad -
Write short notes :
() e Fam
Pascal’s law
(i) AR H T 8
Selection of turbine
(iii) TR AR

Boiler mountings (4x3)




